
8 x 2 pcs 9 x 1 pc

PARTS LIST / LISTE DES PIÈCES / LISTA DE PIEZAS

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only1 1 1

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

IT IS BETTER TO LAY OUT THE PARTS FOR QUICK ASSEMBLY /

DISPOSER LES PIÈCES POUR UN ASSEMBLAGE RAPIDE /

COLOQUE LAS PIEZAS PARA UN MONTAJE RÁPIDO.

x 1 friend 30 min

* Replaceable Part

1 x 1 pc 2 x 1 pc 3 x 1 pc
4

x 1 pc

5 x 1 pc 6 x 1 pc 7 x 4 pcs

Top panel *

Panneau supérieur

Panel superior

Left side panel *

Panneau de gauche

Panel izquierdo

Right side panel *

Panneau de droite

Panel derecho

Bottom panel *

Panneau inférieur

Panel inferior

Back panel *

Panneau inférieur

Panel inferior

Shelf *

Étagère

Repisa

Short Leg *

Jambs courte

Patas Cortas

Long Leg *

Longue Pattes

Patas Largas

Door *

Porte

Puertas



PARTS LIST / LISTE DES PIÈCES / LISTA DE PIEZAS

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

x 1 friend

* Replaceable Part

NOT INCLUDED

NON COMPRIS

NO INCLUIDO

Bolt M6 x 50mm *

Boulon M6 x 50mm

Perno M6 x 50mm

A x 12 pcs B x 1 pc

Allen Key M4mm  *

Clé hexagonale M4mm

Llave Allen M4mm

C x 20 pcs

Cam bolt M6 *

Boulon M6

Perno M6

Wood screw 8 x 30mm *

Vis af bois 8 x 30mm

Tornillo para madera 8 x 30mm

D x 20 pcs

Cam housing Ø15 x 12mm *

Came Ø15 x 12mm

Leva Ø15 x 12mm

E x 20 pcs

I x 12 pcs

Knob *

Poignée

Tirador

Crosshead screw M4 x 25mm *

Vis à empreinte cruciforme

Tornillos de cabeza ranurada en cruz

J x 1 pc K x 1 pc

Magnet *

Catch de aimant

Captura de imán

F x 1 pc

Hinge Ø35mm *

Charnière Ø35mm

Bisagra Ø35mm

H x 2 pcs

Screw 3 x 16mm *

Vis 3 x 16mm

Tornillo 3 x 16mm

G x 2 pcs

Screw 3 x 13mm *

Vis 3 x 13mm

Tornillo 3 x 13mm

2 2 2

30 min



Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

x 1 friend

1

3

5

6

7

8

9

8

7

7

7

4

2

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

3 3 3

30 min

* Replaceable Part



C

x 20

1

3

4

C

2

STEP 1.

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

4 4 4

* Replaceable Part



2

3

x 20

D

STEP 2.

5

6

STEP 3.

6

F G

F

G

x 1 x 2

D

TAP DOWN SOFTLY

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

5 5 5

* Replaceable Part



E

x 4

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

E

2

5

6

6 6 6

STEP 4.

* Replaceable Part



E

x 4

3

STEP 5.

2

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

E

7 7 7

* Replaceable Part



E

x 6

STEP 6.

1

x 1 friend

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

3 2

E

8 8 8

* Replaceable Part



E

x 6

STEP 7.

x 1 friend

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

4

E

9 9 9

* Replaceable Part



x 12 x 1

A B

STEP 8.

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

A

B

7

7

7

7

8

8

10 10 10

* Replaceable Part



STEP 9.

Adjustable leveler (4 pcs)

Patin réglable ( ×4)

Nivelador ajustable( x4)

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

11 11 11

* Replaceable Part



STEP 10.

9

K

J

9

H

I

STEP 11.

H

x 2

I

x 4

J

x 1

K

x 1

NOTE: TIGHTEN SCREW IN MARKED HOLE EXACTLY.

SERRER LA VIS EXACTEMENT DANS LE TROU MARQUÉ

APRIETE EL TORNILLO EN EL ORIFICIO MARCADO EXACTAMENTE

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

12 12 12

* Replaceable Part



I

x 4

9

I

STEP 12.

x 1 friend

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

13 13 13

* Replaceable Part



STEP 13.

I

x 4

I

x 1 friend

Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 15

ASSEMBLY INSTRUCTIONS / NOTICE DE MONTAGE / INSTRUCCIONES DE MONTAJE

14 14 14

* Replaceable Part



Made in Vietnam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to www.myfurnitureinstructions.com

Residential Use only

ITEM NO. / ARTICLE NO. / ARTICULO NO : J015 - 910 - 033.
DESCRIPTION / DESCRIPCIÓN : DESK / BUREAU / MESA DE TOCADOR.

Page     of 15 / Page     sur 15 / Página     de 1515 15 15

* Replaceable Part

REPLACEABLE PARTS / PARTIE REMPLAÇABLE / PARTE REEMPLAZABLE

Top panel *

Panneau supérieur

Panel superior

Left side panel *

Panneau de gauche

Panel izquierdo

Right side panel *

Panneau de droite

Panel derecho

Bottom panel *

Panneau inférieur

Panel inferior

Back panel *

Panneau inférieur

Panel inferior

Shelf *

Étagère

Repisa

Short Leg *

Jambs courte

Patas Cortas

Long Leg *

Longue Pattes

Patas Largas

Door *

Porte

Puertas

Hardware Kit *

Liste des pièces de quincaillerie

Lista del kit de materiales

x1  RJ015-910-033-HWKI  -

x2  RJ015-910-033-HING  - Hinge Ø35mm *

Charnière

Bisagra

x1  RJ015-910-033-KNOB  - Knob with Screw *

Poignée et vis

Tirador y Tornillo

x1  RJ015-910-033-TPAN  -

x1  RJ015-910-033-LSPA  -

x1  RJ015-910-033-RSPA  -

x1  RJ015-910-033-OPAN  -

x1  RJ015-910-033-BPAN  - x1  RJ015-910-033-SHEL  - x4  RJ015-910-033-SLEG  -

x2  RJ015-910-033-LLEG  -

x1  RJ015-910-033-DOOR  -

x1  RJ015-910-033-MAGN  - Magnet *

Catch de aimant

Captura de imán


	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


